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[1] 2RTEDOR7 bV F(r) = (y? + 2,22y + 1) IOV TEZ S, 22 L r = (z,y).
(1) B C %15 (0,0) 2258 (1,1) IKEZRD & I ikt 35, 2
RENOBAIOLT, s / F-dr Z7F5¢ k.,
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a) T = (t,t°) (0<t<1)
,0) = (1,0) — (1,1) %= 2 rauii
,0) — (1,1) 7= B 1EMR

M r = (cosf,1 + sin6) (-2 <60<0)
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(2) 2o _ Fy B X,

(3) F(r) = —gradf(r) £ 2 AN 78 (KT v)) f ZRkd X,
(4) —[f(1,1) — £(0,0)] ZFFL, (1) DR E BT 5 & ZHED
b X,
[2] #HIE —7/2 < 2,y < 7/2 TEZEI N ZZHKBIE f(x,y) = cosxzcosy IZDWT, AT DORWICE
Z Ko
(1) f(z,y) DIEAY0, 0.25, 0.5, 0.75, 1 & 72 2 EEf 2 #i 0, BT X v,
(2) B f(z,y) DR (x,y) ICBT 2 TARL (gradient) ) 13,

of (z,y) 8f(x,y)>
ox = Oy

gradf(z,y) = (

TRAETE %, & (0,0), (7/4,0), (0,7/4), (7/2,0), (0,7/2) ICF T 2 HHLZ KD, (1) THiL
rAEER LIcZN S DR Y PV,

[3] U DR IZEZ X,

(1) GBSO By % F@)gl(z) & f(z) DBGYE g(z) DBE % LT EE,
(2) EOWUNR d(TS) % dT & dS & W TEE,



